the 5 7 2 Sk oln AYUN

@ 5000000 + 600000 + 90 + 8
@ 6825360

O L b ] s R e
07000000 Hoh Aut zhe 2

® wro] 628°]11, 10] 1863 <1 &=

B

@ 5600098
@ 6825360
® 6089999
@ 6900000
® 6281863




2. BT %Ol F AR a7 He A2 o= AUA] TS 2.

@ 563+ 70 @ 450 + 50 ® 807+ 82
@)729 + 68 ® 967+ 98

~&B

Uit 0t Yo X = 4=9] SZ o)A FE
T+ A2 9] 45 st

@ 56 < 70 (3 A2]4)

@ 45 < 50 (2t A=)

@ 80 < 82 (¥t AF2]<5)

@ 72 > 68 (F AE5)

® 96 < 98 (3t AHE|g) o] B R

wehbA Kol 7 & 7t He WAl @ ol

/\/-\/-\/-\




/R A

\J \
\\J AV

@>l<>|

to] @, ®, @, ©2F &o] o423 7HA] FHE

23]

o]

L/
ya \\/

\J \
\\Jf \\

U U
D[ A

— A=
o o

<
Q

=
B

N

1] e
= il




1 oA 6 7421 9] 5 242} 7= A WA vhE 12 24 4= Sl A 7HE
Z FE oL

> E.

[> A 665544332211

7 & a= & 55 H A2 F HY sUoh
24X 665544332211 Y o}




5. ol 4Z@elA 2 el 2718 ek,

79°

39°

L
o

>
> =g 62°

A2+ Al Zre] 2719] g2 180° YUt
180°—79°-39° = 62°




180°=2] 7] st A
2912 AEZA L.,

=
o




N

mjm
™
i

af
)
ot
<
il

T

s
o

+

271, #3471, =271




&)

10

o Ful)

=
=

I I
I I -

I I —

A

S 5

#r]

By

ST
N R A
.Hﬂl.,un,w.omuu
mwu,lLlo_EOt,mo
wom B oz &
T o oW Wb
E_E,UIWF‘,__L_LD._
I
oo M
EEEE:
T OR o N
2 @ @ @

BT 10+8+5+7=30(%) Y4t

s

=

A7

At

Z




SRS o83t 4 BTN @, O I 529 F& oA L.
1021103104 | 105
18| 1] 2| 3
19| 1] 2| 3| 4
20| 2| 3| 4| 5
21| 3| 4 |O| 6
| = g
> ™et: 5

B

AL T 0] QA o] Ao A o] zta] =248 & AYYtt.
102+18—1200]E§@ oJdyrch

104 + 21 = 125022 ©=5Y 1t}

kA T 40 T2 045 = 5 YUt




10. 7 7H=E = W4 jgsto] deole] Aaje] 7 49 S e
AT 2] 52 REA Q.
[71[3][0][1][4][6]
> oo

> HE T 140013346767

N I 2 S

S 4= 140013346677 ) B2 SR 2 22 4= 140013346767




11, the2 /b 2 50 E A2 e 2L ol AUk

1
@ 235%2] 100 8Y © 69 72005+9] 0

1
® 38%F 5001 2] 1000 Y ® 419 67052 1000

06,600 0660 06660
@606 0 6o a6 .o e

B

@ 2359%100 = 2350000 x 100 = 235000000
=29 3500

1 1
o] 2 1?_]_-0 — 2
© 6 720059 100 672000000 x 100

= 6720000 = 6723
© 3855001 x 1000 = 385001000
=39 8500 % 1000

1 1
4191 67099 — — 4106700000 X ——
® 41 < To00 1000

= 4106700 = 4109t 6700




12. oJ"@ EAAE 7, ©L 6 /M A= © 2E 86700 €& W4t &
75 M9t © B4 3 9] ol AR Zvhd, 9, © /W49 gk
7Yy Aupiy7t?

D @:5100 Y, © : 8400 ¥
@@: 5100 ¥, © : 8500 ¥
@ @:5200 Y, ©: 8400 ¥

@ @ : 5200 Y, ©: 8500 ¥

® @ : 5200 Y, O : 8600 Y

~&B

@5 71t © 3 7H9] lo] FoE=

@ 10 7H<}+ © 6 719 g Zrt.

o2t @ 7709t © 670 B2 @ 17709] #t goeEn=
(@ 2 7He] Zh)= 86700 + 17 = 5100 ()

(O 719l #h)= (86700 — 5100 x 7) + 6 = 8500 ()




13 the A4 7HES okd2 Wele el B




A4

3t 3

=

7‘(1—7].

(HHE 39 g 9]

()

Oty [ olsa

13t 4

=

27

@ &8 2

spge] 57} 7

gt o

@ &9 Hi2]o] &7t

R 5ol A7} A 2

P o} o5}

S
ot

@ &H gl A7t o

4xro|dt,

o
bl

@) o)A 5T
® 1 i3] A7t

‘ @ RN 57

grefl At

e 3

13
of




—_

15. myoz wE wgo] ujdo]s A £go) Rye] i g g

Y7k
ool eee! eeee! eeeeel
oleje! eoooe! o000
o ooe! oo0oeeoe
oo o oo
3l 7 =4 AR A

@D 2474 @ 2570 3)3071 @ 3670 ® 427}

(}
B2 7t=22 27}, NIZE 174 A&t 22t 1704 5o
L=asi=

AR o= o] 7IZE 671, AIRRE 57] Jeng 2y
4 6x5=30(7N) YUrh




@ Ao 2] =27t 491 G5 A 9 &
© 46009] B} 211 45009] Hot 2 4

© Alolo] 2], olo] apelo] At BE 791 4

® 7 A2)e] S 00] 871 4

> E.

> &=E 457700000000

@ AYY A A7 49 EF AN
|III|IIIIII|
© 4600 ¢ Rt Z T 4500 9 B 2 5
W T I TTTTTTT]

© Am g9 A 244 B2F 79 5
s [ [ [ [T []]

®00] B 87 9 5

12748] FoIA 4xfel 45772 Bl glonz

0°] 8717} el veA] 2pe)o] 5247} B golojof Tk,

whabA] LShE = 457700000000 ©] T




8 A 30 ZHH 40 F FF FHE StASUH. SR BT Al
AR ZHo] o] F= 22 H9| 712 9l Q1A] FoiAlL

L (8 A1 30) +40 = (9 A 10
A EL 1AIZE 59t 30° & 23] 0|B2 10 & B3 Al
ZE=30°+6=5°YYch

b Ale] 9 of JlHE 2 E=a 5t

30°%x5 = 150° ¢lH|
5oUtE P oBF 15)°—5°

= 145° YYt}.




The Al A A 471 A 2 ATt Hes [

el B2 5 oML

[ ]+23=7---a

> E.

> =g 183

B

WHAE 47 7P 2 A4t S wH A7t 7 2 4ol
ojof e,

Uz SollA 7P & 4 ¢ 22

whebA, [ |+23=7...220]28

[ ]=23x7+22=183




19.

1014 9742] 9] =245 7 A
2H2] 4) = (F A £ o] Al AlS THE o, gt

TahAl S

>
> 12

0
L

~&B

U0l 2] 471 7H & Sro]ojof 3t
WrE 71 71 22 4ol ofof ditt.
7 2 Al A e 987012
7 &L T 7t 4271 120] B2 987 + 120]th,




20.

TGO WIe B AFA] S P WIHA A2 )
FSHA 2.

ofll

2~
T

3
> ®Eet: 13

mln E|_ ] _I:‘
O ] I Ll

OHD HF HY%
WA AL o] = AR A, AR e UA, SR 9 of A
A, -7} 22 47RR Soldr).
w7 Abzbe o] S xpeE 2 170, 170, 570, 570, 97K, 97K, 1374,
137, ... o]E2

AFA =] Wb AlzbE-e 1371 UTh

=1 o

|



